Q1.

Q2.

Q3.

Q4.

Q5.

9x12-=

126 x 4 =

6,190-6,132 =

68 + 4 =

7x30=

Q6.

This jug has 1 litre of water in it.

Lauren pours out 400 millilitres of
water.

Drag the arrow (—) to show the new
level of the water in the jug.

1 litre




Q7.

Choose the two cards that show the same weight.

1.5 kilograms

150 grams

1 kilogram 50 grams

15 kilograms I

Q8.

Write in the missing number.

Q9.

+ 4 = 25 remainder 3

Here is a list of numbers.

1140

1400

1440 1040

Complete these sentences.

The smallest number in the list is

The largest number in the list is

Q10.

1500 grams

1410

Here are some patterns made with identical triangles.

Choose the two patterns that have a line of symmetry.

Lvy) (i) (BB) (raviet




